UNIT 1 STUDENT PACKET

Homework
* Watch the Squeeze Theorem video on my website and take notes (EVERYONE)
VETERANS: Epsilon-Delta Practice
ROOKIES: Find each limit. Calculators may not be used.
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Use the follow%g functions for #'s 7 — 13:
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UNIT 1 STUDENT PACKET

xt-2 x<1
14. f(x) x+1 xz=lx#=3

Jx+22 x=3
a) sketch a graph of f(x)
b) £(1)= A ) f(=73
flimfG)=-1 @ lim/G)=%
Nimf= 4 K limfGo= 4
sin x x=0
15. f(x)z{|x|+2 0<x=3
-x*+10 x>3
a) sketch a graph of f(x)
b) £(0)= 0 ) f®)=5
flimf)=% & limf)=-0
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e) /(1) =-39

) lim /()= 5
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) lim /()= Sin(-15)
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